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(b) At, the hloh | Ight InLenslty, wfrtch experlrental faclor, 1Ight or

g,en{:)erature, IS effectlvely cong¢rolling the raLe at which the plant may
photosyntheslse? Explaln your ansurer.

(2 inarks)

(C) stinmrlse the relaLlonshlp betrajeen rate Of photosynthesls and lerperag ure
au the lo,v 1 Ight Intiensity.

(l mark)

(d) At ;he lojj | Ight IntensICY, wtrich experinnntal factor, 1lght or
ternperature, 1S effectlvely congrol 1 Ing the race at which the planL may
photosyntheslse? Explain your ansh,er.

(2 rnarks)
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() at the |gp% | Ight Inlenslty, wtral uould be the effect of doubl ing the level

of atnospherlc carbon dloxlde durlng the experlment? Explaln your_answer.
nrarks)

(f) au both 1igh¢, jntensiiles, ¢he rate Of photosynthesis decreases a; higher
Lelperatures. Hoijl can you explain thls?
(Z rnarks)

TURN OVER
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Quest,lon 2 (15 rnarks)

#n Indon_(fsla, a populaLlon Of fgjrl was sanpled w{ren an area was being cleared
or an OIl palm plantaLion. All" indlviduals In Lhe area were collected, sexed
and weighed. The indlvlidual weighLs were then organised inLo rryelght classes and
the data IS shojm beloj,..

FOINJL e IGH ING:

up to s01- | 401- frore
100 ¢ 400 s | Soo s t han
900 ¢

Ferna | €S

Table shoding the nLrrber of Indlviduals In Len dlfferent welght, range .In an
Indoneslan fojrl population

(@) Sho,ving rnales and fenrales separat,ejy. buL on the sane piece of paper, plot
a_ histogr ?bar graph) shoaring Ih?1 nurber Of indlviduals In each weight
class. a§|0t welght, classes on Ihe horlzontal axfs and ntinb(er of
indlviduals on the verLlcal axls). 4 rnarks)

(b) Explain Lhe decl Ine In Ihe ntjjiiers Of birds as they get heavler. (I
rnark)

() calculaLe and explaln the ratjo of rnales Lo fernales welghing up t?zloogk )
nnrks

TUR OVER



